PATENT PRODUCT

Grille Installation Instruction Rev. 20220601

Part# D45318M Application | For 2006-2008 Ram 1500 / 2006-2009 Dodge Ram 2500/ 3500

Iltem | Part Name | QTY Description Item Part Name QTY Description
#1 |Rivet Grille 1 | Stainless Steel #4 | L Brackets 10 |90°
Parts List
#2 | Screws 16 |10-24X1/2" #5 |L Brackets 6 |70°
#3 |Lock Nuts 32 10-24
Install Notes: Overlay | * Replacement v Drill | V Cut | V
Step Description illustration

1 Identify the grille & hardware with parts list.

Remove six 8mm nuts from the top of the factory grille;
then remove six 8mm bolts along the bottom. Separate
the factory grille from vehicle and place it face down on
2 a workbench. The factory grille has two black or chrome
plastic inserts held in place by molded tabs. Use a
slotted screwdriver to separate the clips and remove the
inserts (Fig 1).

Apply masking tape to the painted or chrome factory
grille face. Use a die grinder or similar tool to cut the
center cross bars from the grille, leaving a 1/4" piece on
all sides (Fig 2). Clean the cut area edges.

4 Attach (6) 70°L Brackets and 90°L Brackets to the welded studs on the rear of the grille with (12) lock nuts.(Fig 3)

The instruction here is for your reference only. We strongly recommend the professional installer for best
result. We are not responsible for any damage caused by the installation.
Thank you for choosing our product!

Page 1 of 2



Rev. 20220601

PATENT PRODUCT

For 2006-2008 Ram 1500 / 2006-2009 Dodge Ram 2500/ 3500

Welded Stud

10-24 Lock Nut

L Bracket

Mark and drill 1/8” hole

Grille Installation Instruction

Application

D45318M

o
RIS
2L
QLA
PR
RN
SRRRRR
CRAXRLR

R

25
o
ot

X

2

e,

%
X

o0,
2,

B

R

425
botes
%

(16) 10-24 Lock Nuts and (16) 10-24X1/2” Screws

ing

%
2o

%5
batets®

te%e;
RS
RRRR
SRR
(%%t
L]

2o,
%5
o
0%

9

<5
e

>
2

%
%%

ot
e

Z>
.’

!

R

oy

TR
e
L

.

b

2

v,
026

TRE
Pofatelels!
Q%0
500
558
Sotate
e

o3e]

525

-
ols
o2

<

5

55

<
°

o
25
<

X2
Lo

555

55

e
>

55

250
<

XKL
SUCRK

;
..

®

0

>
2
4

35
%
2

55

o)
2
lela%
<

o

R
:o
ool

s
e

%
25
o 2ol
;
X0
SXRX

o

ots
=%
o

X%
'

the grille insert (with (16) installed

<

<5
25
<
Pote%s!
Sosstess
X o
e
2
%
>
"%

",

o
00i%0%,
203950,
005009,
25353%
o
Pete’
4:0:0
292505

e
"
%
S5

AUTO PARTS SPECIALIST INC.

Part#

Fig 3

o
555
02

e,

o
e
205
2o3%s
2525,
°

L Brackets) onto the factory grille shell

Position

cavity. Mark and drill (16) holes on the shell
according to the L brackets position, (Fig

4

rt to the drilled holes on the factory shell by us

Inse

L Bracket

o
PR,
s
B! QQQOQQQ.QQ
YRR
R
R
RIEK
botitolrtetels
.o.oo.&w:
totetrtoott %y
oo oot
Poee, 02000, 0,9 0%
eacertole tebirtototle;
#“.o..u...w R
X rhatealoo
R
o

10-24X1/2” Screw

Lock Nut

XX
QRRLLAA
R
o
;R
Qo ..“o.:..%%o....%.oo%oo
B R
| et

%
KX
K
Bocx AR
" %
o
roonet
SR 00
R
horeds
B RS
% e,
o LOOLRX
etk 0007000 0 0,000,995}
o IR
BRARK LA
o 9 0060e%
B KRR
| N oot
Alolelatnront X
SRS
LXK, 0O 000,000 be bt
XXX XX
B SRR QAR
IR RA bo¥etele
kX 00.000'000000’0’0’0 o
OTIILITIN IO b I breY o
lelaneletatete ols e teseceiecece9,9,000¢ €|
XX 0 0.00.00.65.0.0.0.000
Aot tatoretotetetetee!
KOO XX XXX XK KK KHX S8
..%%“o.o%%?»&oﬁoﬂoﬂoﬂoﬂ%oﬂoﬂo" o
B KRR
RO AL O PO o
T
PetaTtaneteretetetete ok
QRRRR b
56505

P00t
ﬂ »
q

°
)
°
=
.
L]
°

©

X X AR KX

oo,
00K
b OOttt ettt
KRR KK
BN XK
st a ottt
oQOQOQQOOQO"O XHXHH
KRR
SRR
st
R RXRS
et tarreteres
et nrieletelel ettt
o tettsniastetatatetotytet vy
. .".“". CRRKELKAS o.o”"ouo. % oo
XIS QORKLLD
onssatettane oottt
7, ANRRIse e ettt
XKD 20
KRR
SO
&
o

RN
5 o:.o.-.oouo“o:.:.
oot

e

e X
BRAXLK
oot tete et 5
RN KR
ORI

&
' &2
| ROAAXANA
ettt
ﬁ. B s
%
¥

X5

)

through mounting hole on L brackets (Fig 5)

Attach the grille

5

RS
XXX
R G
* o
RS0 »0"0“'. i

4 SN

Fig 5

Step 2

th the fasteners removed in

rt to the vehicle wi

lle inse

talled gr

Reinstall the factory grille shell with the ins

Installation completed.

7

8

|

| installer for best

iona
result. We are not responsible for any damage caused by the installation.

here is for your reference only. We strongly recommend the profess
Thank you for choosing our product!

ion

[ The instruct

Page 2 of 2




